
©James Mungall 2011 

Which do you think is the odd one out? 

Question 1 

 

Question 2 

 

Question 3 

 

  

 

Question 4 

 

Question 5 

 

Question 6 
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Question 7 

 

Question 8 

 

Question 9 

 

  

 

Question 10 

 

Question 11 

 

Question 12 
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Question 13 

 

Question 14 

 

Question 15 

 

  

 

Question 16 

 

Question 17 

 

Question Answer Reason 

1 C Line between circles is longer 

2 B One of the points of the star is longer 

3 A Three loops rather than two 

4 C Four ‘arms’ rather than five 

5 B Facing the other way 

6 C Four crosses rather than three 

7 C Three circles in the box rather than two 

8 A Box missing in the middle 

9 B Some of the boxes are paired 

10 C Fishes are not in a straight line 

11 A Clockwise arrow 

12 C Arrow points to white circle 

13 A Significantly more stars 

14 A North West and South East quadrants filled 

15 A Star is outside the ‘S’ loop 

16 A Two right arrows rather than one 

17 C Square is not rotated on its edge 
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Odd one out - relative positions 

Question 1 

 

Question 2 

 

Question 3 

 

  

 

Question 4 

 

Question 5 

 

Question Answer Reason 

1 B Order of boxes is same for A & C 

2 A Arrow points to black circle in B & C 

3 A A has diagonal cross inside the circle, not outside 

4 B Arrow points towards one dot, not three 

5 A One arrow does not pair up and point at another 
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Odd one out – number of sides 

Question 1 

 

Question 2 

 

Question 3 

 

  

 

Question 4 

 

Question 5 

 

Question Answer Reason 

1 C C has 7 sides. A & B have 8 sides. 

2 B In B, the 2 sided shape is inside the circle and 3 

sided shape outside. 

3 C In A & B the large shape has 4 sides and the small 

has 3 sides. In C, this is the other way around. 

4 B In A & C the shape is made up of two triangles, 

whereas in B it is made from two 4 sided shapes. 

5 C A & B have a 4 and 5 sided shape. C has a 3 and 6 

sided shape. 

 


